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From J&M -- Jason Eisner's ice cream / weather HMM example.
Model
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[OTaaie]l A hidden Markov model for relating numbers of ice creams eaten by Jason (the 2
observations) to the weather (H or C, the hidden variables). O I

Forward algorithm

Declaratively:
aik] = Z Plye=1F,. wam, 9-3-9)
Yi...Yt—1

Recursive Algo.: for each t=1..N,

rv V;Mt[k] = Z (O!t_l[j] Pt'r'ans(k | .7) Pemit(wt | k)

j=1.K ‘g — ) HMM

3. Hidden states are in circles, observations in squares. White (unfilled) circles indicate illegal transitions.
The figure shows the computation of oy () for two states at two time steps, The computation in each cell
follows Eq. 7.14: o (j) = Zf;, o1 (i)aibj(o;). The resulting probability expressed in each cell is Eq. 7.13:
& (J) = Ploy,02...00,q = JIA).






